 




       

      


UAF/CT/4009(AFMI)

B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2016.
II YEAR — IV SEMESTER

Major Paper IX — ADVANCED CORPORATE ACCOUNTING
Time : 3 hours


    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What is human resource accounting?

2. Write short note on External Reconstruction.

3. What is holding company?

4. State the meaning of principle of indemnity.

5. Who is a secured creditor?

6. ‘S’.Ltd. has capital of `15,00,000 in shares of `100 each.  Out of this, ‘H’ Ltd purchased 75% shares at `17,50,000. The profit of ‘S’ Ltd., at the time of purchase of shares by ‘H’ Ltd., were `7,50,000. ‘S’ Ltd., decided to make a bonus issue out of capital profits of one share of `100 each fully paid for every three shares held. Calculate the cost of control after the issue of bonus shares.

7. Consolidate the following Balance Sheets:

	Liabilities
	H
	S
	Assets
	H
	S

	
	`
	`
	
	`
	`

	Capital `1 shares
	1400
	1000
	900 shares in S at cost
	1200
	-

	Creditors
	-
	500
	Sundry assets
	200
	1800

	P & L A/c
	-
	300
	
	
	

	Total
	1400
	1800
	Total 
	1400
	1800


When H Ltd., acquired the share in S Ltd., the profit and loss of the latter had a credit balance of `200.

8. The Trial Balance of the Nedungadi Bank Ltd., as on 30th June 1984 shows the following balances:

	
	`

	Interest and discount
	45,40,600

	Rebate on bills discounted (01.07.83)
	4,750

	Bills discounted and purchased
	3,37,400


The unexpired discount as on 30.06.84 is estimated to be `5,560. Draft necessary adjusting entries and calculate the amount of interest and discount to be credited to Profit and Loss Account.

9. From the following balances prepare the P & L A/c of Canara Bank in the revised format.

	
	`
	
	`

	Interest received 
	5,42,260
	Interest on deposits
	1,60,520

	Discount received 
	2,43,760
	General expenses
	1,82,420

	Commission received
	44,240
	Bad debts
	1,28,710



Note: Rebate on bills discounted `64,380

10.  B Ltd., agreed to absorb A Ltd., upon the following terms:

Shares of A Ltd., are to be considered as worth ` 12 each  (of which shareholders are to be paid one quarter in cash and the balance in `100 shares of B Ltd., which are to be issued at 25% premium. Total shares were 10,000 in B Ltd., and 20,000 in A Ltd. Ascertain the number of shares to be issued by B Ltd.

11.  Calculate the net claim to be debited to Revenue A/c of an Insurance Company:

	
	`

	Claims paid for the year ended 31.3.03 
	5,75,000

	Claims outstanding on 1.4.02
	55,000

	Claims outstanding on 31.3.03
	98,000

	Claims covered under reinsurance
	28,000


12. The liquidator of a company is entitled to a remuneration of 2% on assets realized and 3% on the amount distributed to unsecured creditors. The assets realized `1,00,000 including cash balance of `5,000. Amount available for distribution to unsecured creditors before paying liquidator’s remuneration was `43,100. Calculate liquidator.
SECTION B   (5 × 5 = 25 marks)

Answer any FIVE questions.

13. Describe the methods of accounting for Amalgamation.

14. Explain the concept of social responsibility accounting.
15. While closing the books of a bank on 31st December 1989, you find in the loan ledger as unsecured balance of `2 lakhs in the account of a merchant whose financial condition is reported to you as bad. Interest on the same account amounted to `20,000 during the year. During the year 1990, the bank accepted 75 paisa in the rupee on account of the debt upto 31st December 1989. Give journal to record these transactions under Interest suspense method.

16. A Life Insurance Company gets its valuation made once in every two years. Its Life Assurance fund on 31.03.06 amounted to `63,84,000 before providing `64,000 for the shareholders’ dividend for the year 2005-06. Its actuarial valuation due on 31.03.06 disclosed a net liability of `60,80,000 under assurance annuity contracts. An interim bonus of `80,000 was paid to the policy holders during the two years ending 31.03.2006.

Prepare a statement showing the amount now available as bonus to policy holders.

17. A Ltd and B Ltd were amalgamated on and from 1st April 2002. A new company C Ltd was formed to take over the business of existing companies. The balance sheets of A Ltd and B Ltd as on 31st March 2002 are given below:

	Liabilities
	A Ltd.
	B Ltd.
	Assets
	A Ltd.
	B Ltd.

	
	(Rupees in thousands)
	
	(Rupees in thousands)

	Share Capital
	
	
	Fixed assets
	1200
	800

	Equity shares of `10 each
	600
	400
	   Less: Depreciation
	200
	150

	12% Preference shares of `100 each
	300
	200
	
	1000
	650

	Reserves and Surplus :
	
	
	Investments
	400
	150

	  Capital Reserve
	200
	150
	Current Assets:
	
	

	  General reserve
	300
	150
	  Stocks
	300
	150

	Profit and Loss A/c
	100
	50
	  Debtors
	400
	200

	Secured Loans
	400
	200
	Cash and Bank balance
	300
	150

	Trade creditors
	300
	100
	
	
	

	Tax Provision
	200
	50
	
	
	

	
	2400
	1300
	
	2400
	1300


Other information:

i) Preference shareholders of the two companies are issued equivalent number of 15% preference shares of C Ltd.

ii) C Ltd will issue one equity share of `10 each for every shares of A Ltd and B Ltd. Prepare the balance sheet of C Ltd on the assumption that the amalgamation is in the nature of merger.

18.                                             Balance Sheet as on 31st March, 2015
	Liabilities
	H
	S
	Assets
	H
	S

	
	`
	`
	
	`
	`

	Share Capital in `1 fully paid shares 
	12,000
	6,000
	Sundry assets
	20,000
	12,000

	Reserve
	3,000
	2,000
	Investments 6,000 shares in S Ltd.
	7,500
	-

	P & L A/c
	2,000
	1,000
	
	
	

	Sundry liabilities
	10,500
	3,000
	
	
	

	Total
	27,500
	12,000
	Total
	27,500
	12,000



H Ltd has acquired shares on 31st March 2015.

19. K Ltd went into voluntary liquidation on April 2015 on which date its position was as under:

	
	`
	
	`

	Share capital:
	
	Land and Building
	80,000

	5,000 shares of `100 each, `80 paid
	      4,00,000
	Other fixed Assets
	2,60,000

	Loan (secured by mortgage of Land and Building)
	1,00,000
	Stock
	1,05,000

	Unsecured Loan (including Preferential dues `10,000)
	2,00,000
	Debtors
	1,00,000

	
	
	Loans
	40,000

	
	
	Cash
	5,000

	
	
	Profit and Loss A/c
	1,10,000

	Total 
	7,00,000
	Total 
	7,00,000


Land and Building were realized by secured creditors for `1,20,000. Other fixed assets fetched `40,000. Debtors `20,000. Stock `10,000. Loans were wholly bad. The liquidator is entitled to a fixed remuneration of `1,000 plus 2% of the amount paid to unsecured creditors. The liquidator’s out-of-packet expenses amounted to `1,000.

Show Liquidator’s Statement of Account.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. On 31st March, 2016 the balance sheets of H Ltd and its subsidiary S Ltd stood as follows:

	Liabilities
	H
	S
	Assets
	H
	S

	
	`
	`
	
	`
	`

	Equity Share Capital 
	8,00,000
	2,00,000
	Fixed assets
	5,50,000
	1,00,000

	General Reserve
	1,50,000
	70,000
	75% shares in 
	2,80,000
	-

	
	
	
	S Ltd (at Cos)
	
	

	Profit and Loss A/c
	90,000
	55,000
	Stock 
	1,05,000
	1,77,000

	Creditors
	1,20,000
	80,000
	Other current assets
	2,25,000
	1,28,000

	Total
	11,60,000
	4,05,000
	Total
	11,60,000
	4,05,000



Draw a consolidated Balance Sheet as at 31st March, 2016 after taking into consideration the 
         following information:

i) H Ltd acquired the shares on 31st July 2015.

ii) S Ltd earned profit of `45,000 for the year ended 31st March 2016.

iii) In January 2016 S Ltd sold to H Ltd goods costing `15,000 for `20,000. On 31st March, 2016 half of these goods were lying as unsold in the godown of H Ltd.

Give your working notes.
21. From the following information prepare the Profit and Loss Account of ABC Bank Ltd for the          

    year ended on 31st March 2016. 







	
	`

	Interest on loan
	2,59,000

	Interest on fixed deposits
	2,75,000

	Rebate on bills discounted required
	49,000

	Commission
	8,200

	Establishment
	54,000

	Discount on bills discounted 
	1,95,000

	Interest on cash credit
	2,23,000

	Interest on current account
	42,000

	Rent and taxes
	18,000

	Interest on overdraft
	1,54,000

	Directors fees
	3,000

	Auditors fees
	1,200

	Interest on savings bank deposits
	68,000

	Postage and telegrams
	1,400

	Printing and stationery
	2,900

	Sundry charges
	1,700



Bad debts to be written off amounted to `40,000. Provision for taxation may be made @ 55%.

Balance of profit from last year was `1,20,000. The directors have recommended a dividend of `20,000 for the shareholders.

22. From the following particulars relating to Z Insurance Co. Ltd prepare Fire Revenue A/c for the year ending 31.3.2016.

	
	  ` in‘000
	
	` in ‘000

	Claim paid
	4,80,000
	Premium received
	12,00,000

	Claims outstanding on 1.4.2015
	40,000
	Reinsurance premium
	

	Claims intimated but not
	
	    paid
	1,20,000

	     accepted & paid on 31.3.2016
	10,000
	Commission
	2,00,000

	Claims intimated and accepted
	
	Commission on
	

	     but not paid on 31.3.2016 
	60,000
	    Reinsurance ceded
	10,000

	Commission on reinsurance 
	
	Provision for unexpired
	

	      accepted
	5,000
	     risk on 1.4.15
	4,00,000

	Expenses of management
	3,05,000
	Additional provision for
	

	Bonus in reduction of premium
	12,000 
	     unexpired risk on 1.4.15
	20,000



You are required to provide for additional reserve for unexpired risk at 1% of the net premium in    

     addition to the opening balance.

23. The Balance Sheet of A Ltd
. as on 31st March, 2016:

	Liabilities 
	`
	Assets
	`

	Share capital:
	
	Fixed Assets:
	

	1,000 6% Preference   shares of
	
	    Machinery
	1,90,000

	      `100 each fully paid
	1,00,000
	    Furniture
	10,000

	2,000 Equity shares of 
	
	Current Assets:
	

	      `100 each fully paid
	2,00,000
	    Stock
	1,20,000

	2,000 Equity shares of 
	
	    Debtors
	2,40,000

	      `100 each `75 paid
	1,50,000
	Cash at Bank
	50,000

	Loan – Bank (secured on stock)
	1,00,000
	Miscellaneous Exp.:
	

	Current Liabilities and Provision:
	
	   Profit and Loss A/c
	3,00,000

	    Creditors
	3,50,000
	
	

	    Income-tax payable
	10,000
	
	

	Total 
	9,10,000
	Total 
	9,10,000



The company went into liquidation on 1st April 2016. The assets were realized as follows: 

	
	`

	Machinery
	1,66,000

	Furniture
	8,000

	Stock
	1,10,000

	Debtors
	2,30,000

	Liquidation Expenses
	

	     amounted to
	4,000


The liquidators are entitled to a commission at 2% on amount paid to unsecured creditors. Call    

on partly paid shares was made but the amounts due on 200 shares were found to be irrecoverable.

Prepare Liquidator’s statement of Account.
__________________
[P.T.O.]





[P.T.O.]
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